?w_zmg.)vbﬁm ezom Pry
Mdieas 333 S, w. Sweelhigipe LD

Lake City, Fl_3202Y
: Wind Zome-, (30 i
Bluee (¥ XI[T )
gﬂﬁggm Vi ERETIRG e L 4
5 Chow 7° ) Buper Gntter
5. Host Skructprer L00 D Eriden ¢
_ is Hous-e Ros 5,
g@ﬁﬁ
&, RDOBR. .W \N&bahl_»h\.\lﬂ
- %0 X 15

émﬁﬂ&ml
e [} gﬁ

L]

wumueﬂn: DTU 4234 3@1“

Contrictor. M- DR E)e 4 Sons

Hovse-e *

4

L\. m..x.pu}\m\..w Go

Slhab & ,m

iﬂhm_xz@ )
. MAINTAIN A ONE
\ . OPERABLE EME
ANDRESC

{

OPENING.*

SHALL

NCY ESCAPE -

4

=

o B |
I 1ax "
ol ] el
Aq! P _
k X m X
W nw emﬂ,w . 3
\ﬂ g {38 ag
A /X5
‘Jmfﬂﬁilll




1"x2" OB @ PERIMETER

NOTE: USE 1/4"x3" LONG LAGS INTO WOOD
HOST AND 1/4"x2-1/4" LONG CONCRETE
SCREWS INTO CONCRETE OR MASONRY
CONSTRUCTION (1" EMBEDMENT TYPICAL)
SPACING 24" O.C. AND WITHIN 6" OF EACH
PERPENDICULAR MEMBER. #14@18"0.C.,

AN

1"X2" OB CONT. W/1/4" TAPCON @ 24" O.C. W/2"
EMBEDMENT (Min.)

POST

2"%2"x.125 ANGLE EACH SIDE OF
POST, 2 #10x3/4" S.M.S. INTO
POST & 1/4" TAPCON W2
EMBEDMENT (Min.) IN CONC.

. The 2023 Florida Building Code is the basis for design wind load as per
- Pool/Patio Enclosures and Screen/Glass Room Additions are designed to

. The Contractor shall verify that the host structure is in good condition and

. Mean roof height shall be less than or equal to 30 feet. The height of the

GENERAL NOTES and DESIGN DETAILS
Chapter 20, table 2002.4.
be attached fo a permanent structure of adequate capacity.
of sufficient strength to support the proposed addition.

The exposure is per site location. "C" for structures along the coast and "B"
for all others,

Hmv CHAIR RAIL TO POST

@ RIBBON FOOTING,, b o

" addition shall not exceed the height of the host structure.
.\ % \\ #10@12"0.C. ADD ANGLE FOR EACH 2"POST . Concrete shall be 2500 psi (min.). Cover of rebar shall be 3" (min.). Slab
5 7 1"x1"x1/16" ANGLES 2" LONG| 2"EDGE (Min _w (See ABOVE) thickness shall be 4" (min.). Fibermesh may be used in lieu of welded wire
WITH 1/2"x2-1/4" LONG S.M.S. : mesh.
.\\ \ AT _m.m.nI _._mm\1 (TYPICAL EACH - ] T. mehmu_ns shall bear on compacted subgrade with 1500 psi (min.) bearing
: SIDE, TOP & BOTTOM) EXISTING | 8. Slabon grade shall be used for roof areas less than 360 sq.ft, or for posts
= - g_ 5. w | 2" EMBEDMENT (Min.) GRADE —— AT A THICK with tributary areas less than 75 sq.ft.
& i s * A e ol AR (Min.) 9. Pile type footing shall have #3 rebar, 12" long, thru post each way.
AL Sttt " 110. Embedded aluminum posts shall be isclated to prevent corrosion,
Lol A A AL 11. Posts supporting carrier beams shall have adequate foundation or hold
down capacity, a minimum of 1 cubic foot of concrete for each 10 square
i i feet of screen room.
@ 1x2 to HOST at CORNER A._.Eu.nm: © @ POST AT BASE A..—_s.._._nm:@ 12. The Pool/Patio beam spans are based on open building classifications. The
REBAR OPTIONS typical details shown are indicative of a standard installation.
. i ing is 7'-0". | teral i ired
1"x2" OB @ PERIMETER, FASTEN ﬂmﬂ@ iy OO.__./_._.. 2500psi FIBER 13 w‘vwxbﬂuﬁmm_ﬂmwumn_zm is 7'0". Internal lateral bracing is required for
OR SELF MATING OR HOLLOW POST b. 2 - #4 CONT REINFORNCED or 14. Cable is required when enclosure extends more than 18" from host.
c.3-#3 CONT. 6x6 10/10 W.W.M. 15. One pair of cables are required for every 300 sq.ft. of wall surface area,
/ 2-10 8.M.S. FROM INSIDE FACE OF 1x2 OB ' ’ * 16. nﬂuﬂﬁﬁ ﬂmﬁuﬂwmhﬂm_wﬂg provided with washers not less than
INTO SCREW SPLINES OF HOLLOW GIRT - b2k ;
.. a" ; 17. Self-tapping SMS shall be stainless steel or zinc coated.
N (1" EMBEDMENT MINIMUM) 1-0" 4" THICK 18. All members shall be isolated as recommended by manuf. to prevent
i ] gk . 'SLAB Min.) corrosion.
N = 2'x2" HOLLOW HORIZONTAL GIRT GRADE £ i ) 19. All attachments must penetrate 2° (min.) into footing.
%/ e 7 20. Paver bed can be no thicker than 1".
\ A .._.:...:_.... .....
I / MINIMUM POST SIZE & NUMBER OF SCREWS
NOTE: USE 1/4"x3" LONG LAGS INTO WOOD @
// HOST AND 1/4"x2-1/4" LONG CONCRETE SLAB WITH THICKENED EDGE,, BEAMSex  posysup i s Ha
SCREWS INTO CONCRETE OR MASONRY 8" (Min.) N POUR
- CONSTRUCTION (1" EMBEDMENT TYPICAL) REBAR OPTIONS ) MW 2x6 = i ) g
i 1 - #5 CONT @ EDGE OF 2x6 2x4 10 8 5
Q SPACING 24" O.C. AND WITHIN 6" OF EACH a1- . EXISTING SLAB 27 2%5 14 12 10
S PERPENDICULAR MEMBER. b.2-#4 CONT. . 2x8 2x6 16 14 12
8 c. 3 -#3 CONT. A 6" OVERLAP (Min.) %0 %7 18 15 14
8 J 2x10 2x8 22 20 18
8 1x2 to HOST at GIRT g |2 F [
o 10" /N EXISTNG MINIMUM SPACING AND EDGE DISTANCES
Q 7 4 2 >4" THICK #3 #10 #4
oo (2)#10 S.M.S. FROM INSIDE FACE OF POST GRADE A SLAB MINIMUM SPACING 5/8" 3/4" 1"
@ INTO SCREW SPLINES OF HOLLOW GIRT ; . P A ; FROM EDGE (Min.) 5/16" 3/g" 12
m (1" EMBEDMENT MINIMUM) gL _ DT _ L
< =
! i POST Harold William Coffield
8 g .\1 (6) FOOTING AT EXISTING SLAB, S by
I 22" HOLLOW p Jacksonville, FL
< HORIZONTAL GIRT 2500psi FIBER REIN- " THICK 32246
5 /ﬂ _ m FORCED or 6x6 10/10 WWM. N/ SLAB(Min)
n B, 3
m 1x2x1 CUP ATTACHED TO \ e L e
- POST W/(2)#10x3/8" TEK R A e o
S SCREWS 2x2 SLID OVER @ EXISTING SLAB ON GRADE ¢,
8 CAP AND ATTACHED W/(2 ,L T
2 W10x3/8" TEK SCREWS e mmmh%m mﬂdon
> a.1- NT. 8"
] b. 2 - #4 CONT. GRADE ——»  *  ® (904) 571-7106
5 c. 3-#3 CONT. 7 * : hwepersonal@gmail.com
3
[e]
a

© COPYRIGHT 2018 | Um._.>_m|_ SHEET 1




MIN. (3) #10x1-1/2" SMS

uSign Envelope ID: E1BF101A-F4BC-4A18-B8FD-616368692024

Doc

INTO SCREW BOSS ANCHOR WITHIN 6" OF
EACH SIDE OF POST &
24"0.C. (Max), 2* (Min.)
et EMBEDMENT IN
ANCHORS | M.er : __.x i MENRRAETE
- CONCRETE SLAB -SEE
* 'GENERALNOTES —

e UPRIGHT TO BASE & TO BEAM Um._.>=d

CAGE BRACING DETAILS . @3
] A._.Sumnm_v i *1/8"8.8 / TRIANGLE PLATE
5.3/4"1"x1/8" GALV. STRAP PLATE .
GRADE Gt CABLE W/(8) #20 SMS
LOOPED CABLE g
W/(1) 1/4"2" TAPCON INTO " 2 ™
CONC. DECK OR FOOTING CAMEL BACK
NICO SLEEVE W/(2) 1/4"x2" (Min.)
EMBEDMENT
| (10 LooPED cABLE DETAIL, CONC. QUICKSET
(2)#3 REBAR, T | GALVANIZED STRAP DETAIL, . @ @ _ ﬁ
(Min.) 12" LONG " 1-0" (Min.)
EACH WAY @ CAMEL BACK DETAIL,, ' _(2)5/16'2" ANCHOR BOLT (EXPAN-
” SION) or (2) 1/4"x2" QUICKSET
@ PILE TYPE FOOTING,, (13 TRIANGLE PLATE DETAIL,
BEAMMHEADER ALUM. CAST POST BASE b T3 RIBLE EAH 2x2x 125 ANGLE EACH 1x2 SCREEN CHANNEL
, iy WI(2) 1/4"2-1/2" DRIVE PINS "SIDE OF POST o o el ettt Sl
OR 1/4"x2-1/4" TAPCONS OR WI(1) 1/4*2-1/4" TAPCON OR TAPGONE OR THRUBOLT i e A
MIN. (2) #10x1-1/2" SMS 1/4"x2-1/4" THRU-BOLTS 1/4" x2-1/4" THRU BOLTS 2x2 & 1x2 MATED - oﬂ ol
INTO SCREW BOSS ANGLE CLIPS MAY BE WIHH10x2" SMS @24 O.C. BOTTOM OF POST
USED IN LIEU OF INTER- THRU-B s EQUALS 2x3 POST
NAL SCREW SYSTEM -BOLT.

(2) 1/4"x2-1/4"
or 1/4"x3-1/2"
or 1/4"x4-1/2"

@ GENERAL NOTES e

UPRIGHT TO CONCRETE SLAB Um._.b__..a

POST 6" OF EACH SIDE OF POST
marwum N p 2x4 OR GREATER
e e L 2" (Min,) \% ADD 2 DANGLE_
+ N w =5 B __\uﬂ EMBEDMENT| Hz_,w ) um dl. (Min.)
* CONCRETE BLAB -SEE EMBEDMENT ’ ; oozom.mq LAB mmm MBEDMENT
GENERAL NOTES'

TAPCON OR THRU-BOLT
THRU 1x2 OB, 24" O.C. WITHIN

@ ®

UPRIGHT TO EXTRUDED BASE n.m._.>=.o

PLYWOOD/OSB BRIDGE FILLER
ALUMINUM FLASHING, UNDER ROOFING
AT TOP, SEALANT UNDER FLASHING
LUMBER BLOCKING CUT TO FIT

#8x1/2" WASHER HEADED CORROSION
RES. SCREWS @ 8" 0.C. @ FLASHING EDGE

3" COMPOSITE OR PAN ROOF
(SPAN PER TABLE)

COMPOSITE ROOF: #8x___"
LAG SCREWS W/1-1/4" FW. @
8" 0.C. THRU PANEL INTO 2x2

2x2x .044" HOLLOW
EXTRUSION

~HOS
5/16"x4" LAG SCREWS FOR 1-1/2" (Min.)
EMBEDMENT INTO ROOF FRAMING

2
CAULK ALL EXPOSED SCREW HEADS )

@ ROOF WEDGE CONNECTION DETAIL

o

AN

#10x3/8" WOOD OR SMS 12" 0.C.

#10x1-1/2" WOOD or SMS (2) PER RAFTE i
(Min) BEARING LEG
#8x1/2" SMS (3) PER PAN
BOTTOM & 1 @ RISER TOP

SEALANT

COMPOSITE/PANS
COMPOSITE #8x1/2" SMS @
8" 0.C. BOTH SIDES

CAULK ALL EXPOSED SCREW
HEADS

ALTERNATE CONNECTION:
(3) #8 SMS PER PAN WITH 1" (Min)
EMBEDMENT INTO FASCIA THRU
BOXED END

@ ROOF ANCHORING DETAIL

EXTRUDED HEADER OR
BRAKE FORMED (0.044"
Min. Thickness) W/1-1/2"

Harold William Coffield
2743-1 Anniston Rd.
Jacksonville, FL
32246

DocuSigne

STATE OF
. FLORIDP. -+

"tesnanst” m¢
DETAIL SHEET 2

(904) 571-7106
hwepersonal@gmail.com

© COPYRIGHT 2018 _




SUB-FASCIA IS REQUIRE
DWHEN OUTER FASCIA IS
LESS THAN 1-1/2" THICK
OR 1/4°x3" LAG BOLTS
INTO RAFTER ENDS

CONTINUOUS EXTRUDED
HEADER

3" PAN ROOF or
3", 4",6"org"
POLY-ROOF

HOST

(3) #10x3/8" TEKS

EACH 12" PAN or
(3) #10x3/8 TEKS 12"

0.C. FOR POLY-ROOF

USE ANGLE WHERE REQ. TO
PLUMB HEADER TO FASCIA
WH10x3/8" TEKS 12" O.C.

® ROOF ANCHORING DETAIL

2" SMB GUTTER BRACE
AT EACH BEAM

(2)#14x3" SMS 24" O.C. INTO
RAFTER TAILS & (2) @ EACH
GUTTER BRACE CONNECTION

(2)#10x1/2"
@ EACH BRACE

-093 REC. CHANNEL
ON BEAM TO GUTTER CONNECTION W/(5) #14x.093 ON
EACH SIDE OR 2x2x.093 ANGLES ON EACH SIDE W/(4) .093

@ SUPER GUTTER TO FASCIA,,

ALUMINUM PLATE BOTH
SIDES, .25 THICK, W/(16) -
#14 EACH MEMBER

10" SMB
SHOWN Y

Detail applies to gable, hip, dome & mansard
connections. Plate may be internal or external.

2x8 (10)#14 each member .125 thick
2x9 (12)#14 each member .125 thick
2x10  (16)#14 each member .250 thick

SELF-MATING BEAM

SIDE PLATE OOzsz._._Ozo

2x2x.125 ANGLE EACH SNAP or SELF-MATING
2%x2 PURLINS BEAM STITCH SIDE OF BEAM W/#10 2x2x.125 ANGLE EACH BEAM ONLY
ATTACHED TO BEAM \ \ SCREWS@ 24" O.C. SMS IN BOTH MEMBER SIDE OF BEAM W/#10
W/(2) #10x1-1/2" LONG TOP & BOTTOM SMS IN BOTH MEMBERS L/ (4)#10x1-1/2" SMS i
SMS (Minimum-Typical) (#10 SMS Typical) o INTO SCREW SPLINES ——
_ _w SELF- [z
ol To MATING |2 | /r _
1x2 OB ENDS SELF- [o{ }o B : 2x2 or 2x3 MEMBER
FASTENED TO POST MATING (3§ }¢o |——EAN k 7
W/(2) #10 SMS BEAM |of }¢ ATTACH TOMASONARY L HOST
_ _ WI1/4"x4" TAPCONS s s - RECEIVING CHANNEL
1x2 OB FASTENED GIRDER SHALL BE — T~ Wi2" EMBEDMENT (Min) W/(3)#10x3/4" INTO GIRT
R L e N RIBoTARY B ATTACH TO WOOD RV U |
N @24"0.C. W/1/4"x3" LAGS # & SIZE OF SCREWS
Q # & SIZE OF SCREWS # & SIZE OF SCREWS SEE SHEET 1
2 SEE SHEET 1 SEE SHEET 1
m BEARING WALL POST TO GIRDER TO HOST PURLIN or GIRT
3 (24) BEAM CONNECTION (Typical), |(25) BEAM & GIRDER (Typical), (26) WALL (Typical) o to BEAM or POST
©
o
o 2x2 PURLIN MAY BE
© SLOPING or HORIZONTAL
e PURLIN DEPTHx2x1/8 ————= LN
§ ANGLE EACH SIDE (5032-H32) o) COVERFLATE %, | Harold William Coffield
O or » N
2 PURLIN DEPTHx2x.063 (5032-H32) o0 i = £748-1 Anniston Re.
<t - i
L INTERNAL CLIP W/(4)#10x3/4" 2"x3" EXTRUSION / Jacksonville, FL
< TEK SCREWS 32248
o el UPRIGHT POST \
&5 i mmxwmmw ﬁﬁmn% ANGLE NOTCH AS REQ. 2x2x1/8 ANGLE
- IN ANGLE LEG
Wiz | 2x2x1/8 ANGLE END WALL coLumn — L/ e,
8 WI(3)#10x3/4" SELECT PER TABLE 102
g SMS IN EACH i
° ANGLE LEG
>
c
w # & SIZE OF SCREWS (904) 571-7106
5 SEE SHEET 1 hwcpersonal@gmail.com
[7p]

328) SLOPED PURLIN CONNECTION (Optional) o

D

(29 PURLIN END WALL CONNECTION (Typical),

DETAIL SHEET 3

© COPYRIGHT 2018 _




2x2 PURLIN BEAM STITCH SCREWS
(MAX, SPACING @ 24" 0.C. BOTTOM &
7-0"0.C.) TOP (#10 Typical)

SCREEN ROOF BEAM
SIZES PER TABLE 101
(MAX. SPACING
8-0"0.C.)

(2 Min.) #10x1-1/2" LONG
SMS (Typical) INTO
SCREW SPLINES

@ CONCEALED FASTENER CONNECTION,,

2x2 PURLIN

(MAX. SPACING 1x1x1/16x2 LONG
70"0.C.) ANGLES BOTHSIDE
SW/(4)#8 SMSINTO

mmb._.m_ BOTH SIDES

2,

1
Noe 1x2-1/8"x.062

RECEIVING
CHANNEL

I

$

I

SCREEN ROOF BEAM ——
SIZES PER TABLE 101
(MAX. SPACING
8-0"0.C.)

-

@ ANGLE or CHANNEL CONNECTORS ,

(3)#8x1/2" TEKS EACH 12"
PAN or #10x3/8 TEKS 12" O.C.
FOR POLY-ROOF

(3" x 77z PANor y
POLY-ROOF

OOZ._._ZCOCwmx._.xCUmD IQUm%
FASTENED 12" 0.C. W/1/4x2-1/2" DRI
PIN, TAPCON T-BOLT or LAG SCREW

AN

EXISTING MASONRY or STUCCO WALL
NOTE: STUD WALL ADD 1x2 ANGLE TO
WALL W/1/4x2" LAGS TO EACH STUD
THEN SCREEN FRAME TO ANGLE

@ ROOF TO HOST DETAIL

3 %7 PANor
POLY-ROOF

1

u///rl (3)#8x1/2" TEKS
EACH 12" PAN

2x3 or 2x4 HOLLOW SCREEN

D: E1BF101A-F4BC-4A18-B8FD-616368692024

Sign Envelope |

3
5]
o

o

CHANNEL or 2x2 HOLLOW
MATED TO 1x2 SCREEN N
CHANNEL 44D
WHE10x2 SMS @24" O.C. /I CORNER POST 2x2
(1x2 & 2x2, 2x3, 2x4 EDGE TO 1x2 OR
BEAM) POST2x5

@ ROOF TO POST DETAIL

NON-INSULATED ROOF
PAN (3)#8x1/2" TEKS

POLY-ROOF 1/4x4"
BOLT W/1-1/2" FENDER

EACH 12" PAN WASHER 12" 0.C.
M_F / 3 x 172 PAN |
| || or POLY-ROOF
@)__x THRU p
BOLTS @ EACH POST g
S 2x POST or 3x3,4x4,
6x6, POST NOTCHED
2" WIDE BEAM SEE TO RECIEVE 2" BEAM
SCHEDULE SHEET 1 L_L (NOTCH CAN BE

CENTERED IN POST)

(34 ROOF TO POST DETAIL =

NON-INSULATED ROOF POLY-ROOF 1/4x4"

PAN (3)#8x1/2" TEKS BOLT W/1-1/2" FENDER
EACH 12" PAN WASHER 12" O.C.
+’ / 3" x 1/2" PAN
or POLY-ROOF
I ] )
(2)__x THRU
BOLTS @ EACH POST
A Y
N— 2x POST 3x3, 4x4,
or 6x6
2" WIDE BEAM SEE
SCHEDULE SHEET 1 B I

@ ROOF TO POST DETAIL

POLY-ROOF 1/4x4"
BOLT W/1-1/2" FENDER
WASHER & NEOPRENE

GASKET @ 12" O.C.

3" x 1/2" PAN
or POLY-ROOF

NON-INSULATED ROOF
PAN (3)#8x1/2" TEKS

EACH 12" PAN P BEARING BEAM

RIDGE BEAM

REFER TO
FRAMING PLAN
FOR SPEC'S

M\ /l 1"x6" COLLAR

@4'0" 0.C.

@ ROOF TO POST DETAIL

@ ROOF RIDGE DETAIL

Harold William Coffield
2743-1 Anniston Rd.
Jacksonville, FL
32246

.. STATE OF \_
~FLORIDP, ** AR
%@

3
.
frtesas®

12

(904) 571-7106
hwcpersonal@gmail.com

DETAIL SHEET 4

© COPYRIGHT 2018 _




y

(1) #5 HORIZONTAL 8x8x16 CMU, 5 COURSE

or W/3 #3, or W/1 #5 - ALL
CONTINUOUS ON 3" HIGH CHAIRS

RAISED PAVERS OR SLAB STEMWALL

FOOTING (MAX. 3 CMU COURSES HIGH E%><mzmv

@9

@39 3"x3"PoST ATTACHMENT

OPTION 2
& CONTINUQUS |/. - MAX. W/O ADDITIONAL et e
C T REINFORCEMENT 3x3x.093 POST 3x3x.093 POST
: OPTIONAL DECORATIVE
2] 4'x4"x8" SPLIT BRICK (3) 2x3x3x1/8" ANGLES w/ (1) 1-1/2x2-1/2x1/8" INTERNAL
| —— #5 VERT REBAR IN 2500 PS| (4) #14x3/4" SUS INTO POST %%.mma __uzwmﬂ Mﬁu_mﬁ_ﬁw
. CONCRETE FILLED CELLS & (1) 1/4" TAPCONS INTO o i el
N @ 6 0.C. W/6" HOOK INTO FOUNDATION, EACH ANGLE T Al e
FOOTING .
V. GRADE
- L TYPICAL 12'x12" FOOTING W/2 #4,

FOUNDATION

COVERED AREA

TAB AREA
3/8"-1/2" ADHESIVE BEAD FOR 1"

WIDE STRIP UNDER SHINGLE “.\\\
__ N

COMPOSITE PANELS w/EXTRUDED OR BRAKE FORMED
CAP SEALED IN PLACE w/ADHESIVE OR SCREWS

SEALANT BEADS

ATTACH SHINGLES TO COMPOSITE ROOF PANELS WITH INDUSTRIAL ADHESIVE*, APPLY ADHESIVE IN A 3/8"-1/2" DIAMETER,
CONTINUOUS BEAD TO PROVIDE A 1" WIDE STRIP OF ADHESIVE WHEN THE SHINGLE IS PUT IN PLACE. CLEAN ALL JOINTS
AND ROOF PANELS SURFACES WITH XYLENE (XY LOL) OR OTHER SOLVENT BASED CLEANER.

ORAREAS UPTO 1 H. ZONE:

5 1. STARTER ROW OF SHINGLES SHALL HAVE ONE STRIP OF ADHESIVE UNDER THE SHINGLE AT MID COVERED AREA & ONE

@ STRIP AT MID TAB AREA. STARTER SHINGLE ROW SHALL BE INSTALLED WITH THE TABS FACING IN THE UPWARD DIRECTION
5 OF THE ROOF SLOPE.

< 2. SUBSEQUENT ROWS OF SHINGLES INSTALLED WITH THE TABS FACING IN THE DOWNWARD DIRECTION OF THE ROOF
m SLOPE, WITH ONE STRIP OF ADHESIVE UNDER THE SHINGLE AT MID COVERED AREA.

L
S ABOVE

4A18-B8FD-616368692024

C

D FOR ND Z

1. STARTER ROW OF SHINGLES SHALL HAVE TWO STRIPS OF ADHESIVE UNDER THE SHINGLE AT MID COVERED AREA &
2 TWO STRIPS AT MID TAB AREA. STARTER SHINGLE ROW SHALL BE INSTALLED WITH THE TABS FACING IN THE UPWARD
@ DIRECTION OF THE ROOF SLOPE.

S2. SUBSEQUENT ROWS OF SHINGLES INSTALLED WITH THE TABS FACING IN THE DOWNWARD DIRECTION OF THE ROOF
2 SLOPE, WITH TWO STRIPS OF ADHESIVE UNDER THE SHINGLE AT MID COVERED AREA.

En

" ADHESIVE; BASF DEGASEAL (TM) 2000
41) COMPOSITE ROOF PANEL WITH SHINGLE FINISH DETAIL &

ign

DocuS

COLUMN ATTACHED TO 2"x2" C-CHANNEL
C-CHANNEL/GUTTER-STRAP ATTACHED TO
wi/(1) LESS #10x3/4" THAN GUTTER/GUTTER

SIZE OF COLUMN STRAP w/(1) LESS

#10x3/4" THAN SIZE
OF COLUMN

7" STRUCTURAL
GUTTER

(1) 2'x7" GUTTER STRAP
ATTACHED TO GUTTER wi(3)
#10x2" INTO BACK OF GUTTER

& FASCIA & wi(3) #10x3/4" INTO
FRONT OF GUTTER
RISER WALL CONNECTION o

Harold William Coffield
2743-1 Anniston Rd. O/Z’—ur_wpi QO
Jacksonville, FL OV LCENSE %
32246 .%. . nKe
No. 50407 |
&
., STATEOF{_:
Ry LORDR. S

(904) 571-7106 Slgy, ~~<eeeos
hwcpersonal@gmail.com »W\OZ>F m4/

DETAIL SHEET 5

© COPYRIGHT 2018 _




DocuSign Envelope ID: E1BF101A-F4BC-4A18-B8FD-616368692024

EdgeBeamSpansfoxcmporm,paﬁocovers,scmenandgiassmoms,withsolidroofs‘

2020 FBC, Category I, 130 wind, Exposure B, C, and D

Roof Spans w/12” overhang 107 122 14 16
-Maximum Post i
Edge Beam Size ‘ Fost Spacing
27x3» Patio, SMB 6’ 5 4
2”x4” Patio, SMB T 6’ 5 4’
2”2{5” SB&B 8 7 6’ 52
2”x6” SMB 10 8 i 6’
27x7” SMB 12’ 10° 8 7
27x8” SMB 16’ 4 122 1
2”x9” SMB 19 17’ 15° 14
2”x10” SMB 22’ 20° 18 17
Maximum Post Heights Exposure B
Post Size
2”%3” Patio e
3”x3” x .090” 8 76"
2”x4” SMB, Patio 10° 96" 9 86"
37x3” x.125”, 2”x5” SMB 11 1006 100  96”
47x4” x.125”, 2°x6” SMB 14’ 13°6”  13* 126
Maximum Post Heights Exposure C
27x4” SMB, Patio 9 86” 8 7°6”
3”x3”x 125, 2”x5” SMB 10° 96> 9° 8°6”
47°x4* % _125 SMB 1226 12° 11°6™ 11°
Maximum Post Heights Exposure D
2”x4” SMB 86>
3”x37x.125, 2”x5”"SMB 9 8
4”x4%.125” SMB 9’8" 9 84

Harold W. Coffield, PE
2743-1 Anniston Rd
Jacksonville, FL, 32246
50407
904 571-7106

18

49
5!
63
B
13°
16’

8!
9,
12°6”

g
10°



